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0.9% wi/v Sodium Chloride NS (Normal

Saline)



0.45%w/v Sodium Chloride 1HNS

5% wi/v Dextrose in Water D5W
10% w/v Dextrose in Water D10W
5% wi/v Dextrose in 0.9% w/v Sodium Chloride D5NS
5% w/v Dextrose in 0.45%w/v Sodium Chloride

D5L2NS

1- How many grams each of dextrose and sodium chloride are used to

prepare a 250-mL bag of D51/2NS for intravenous infusion?
250 mL x 0.05 (5% w/v) =12.5 g dextrose, and

250 x 0.0045 (0.45% w/v) = 1.125 g sodium chloride.
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1- A physician orders enalaprilat 2 mg I\VP for a hypertensive patient.

There are several 1-mL injections, each containing 1.25 mg of



enalaprilat. How many milliliters of the injection should be
administered?
. mg1.25 gsisiml 1 leana Joml S
.mg 2 ml X
ml1.6=2/125=X

2- A physician orders midazolam hydrochloride 2 mg IVVP. There are
several vial containing midazolam hydrochloride 5 mg/mL. How
many milliliters should be administered?
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1- A patient received 250 mL of an infusion at a rate of 40 mL/hr.
What was the infusion time in hours, minutes?
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2- A patient was administered 150 mL of D5W at a rate of 25 mL/hr.
If the infusion was begun at 8 AM, at what time was it completed?
Ml 150 = 4w s 3 jall aasll
. ml/hr 25 = &8l Jana
. hr 6 =150/25 = il (30
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3- A medication order calls for 1000 mL of D5W to be administered
over an 8-hour period. Using an IV administration set that delivers
10 drops/mL, how many drops per minute should be delivered to
the patient?
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4- Compare between (a) and (b) from the number of drops and the
length of time, in minutes, required to deliver 50-mL of intravenous
solutions when using a microdrip set, at 60 drops/mL (a) , and a
standard administration set, at 15 drops/mL,(b). if in each case one
drop is to be administered per second.
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5- (10) milliliters of 10% calcium gluconate injection and 10 mL of
multivitamin infusion are mixed with 500 mL of a 5% dextrose
injection. The infusion is to be administered over 5 hours. If the
dropper is 15 drops/mL, at what rate, in drops per minute, should
be delivered to the patient?
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